Algebra 11 Name
Writing Linear Eqns.-Notes Date

Slope-Intercept Form of an Equation
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1) Write the Equation of the line based on the graph:

Y-intercept (b-value)? —2= b

l
2

Slope (m-value)? M= "2 @
3
Equation: y=_ 2 X+ (-2\)
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Write the equation given the slope and y-intercept (use the form: y=mx+b).

D m=-3, b=1 Y INXF h3)m=—§,h=—4

v=“3£4—i |j= "%x-—‘f

Write the equation given the slope and a point on the graph:

4) Given: m=-1, EJZ‘,I} Sieps: 1) Calculate the b-value by substituting the
i) slope and the coordinates into y=mx+b.
Y= mx+ b
2) Plug the m and b values back in:
1= (-1)(2)+b e
l=—24+b v oY o B
+2 +Z
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3= b
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Write the equatiga-giveq only 2 points on the graph:

5) Gaven (-1,3)and (2, 1) Steps: 1) Calculate slope (m) using: m= 2=Hh
X~
AX 2) Calculate b by substituting the slope (m)
and one of the coordinates into y=mx+b
m= |- 3 = -2
3 FF alues back in:
a2— -1) A ) Plug t::, m dn;/b values back in
y=_3 x4 ‘3
..;km'% tA =M X+ b
"'";Tq = #% (‘2) i 3 b=
(M) -2t 3 b: 73
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You try!

1) Write the Equation of the line: 4

Y-intercept (b-value)? b= |

— 1
Slope (m-value)? M= —7%— ‘%h- -

Equation: y= SRS
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Write the slope-intercept form of a line with the given information:

l. m=14, b=-5 2. mz—:;- b=0

YLT“*T 57 u'—"fff )

Write the equation of the line in slope-intercept form with the given information:

3. m:l+ (8.5) 4. nf:é,(vﬁ.Z)
4 : 3 _ &
f) mx+ b l'fﬁ)ﬂﬂ =mXx+b M
= §(8)+b T
5 =2 +b 2z —lo+b
fe 8 b= 1
a
5. (3, 1) and (9, 5) 6. (1, Dand (-2, 7)
kil m= 1=L = L--2
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3 3_ mx+ b B:: -2x-(-3\
Y= mx+ b :
==—24+
= ht 0 s &8



